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( )1.What’s the woman’s question?
A.Why doesn’t the sun come up in the west?
B.Why doesn’t the man’s son come from the west?
C.Why doesn’t the man’s son come from the east?
( )2.What does the man mean?
A Tt is fair to take a bus.
B.The bus fair is cheap.
C. Taking bus is cheap.
( )3.What’s true about Mary?
A . She studies in London now.
B. She stays in London now.
C. She is still in London.
( )4.Who is the man looking for?

A.Miss Gross. B. Mss. Gross.
( )5.What do we learn from the conversation? ‘
A . The price is Ok. B.The prize is Ok.
(=)

( )1.What does the woman think of Peter?
A.He will return § 10,000.
B.He won’t return $ 10,000.
C.He lost $ 10,000.

( )2.What does the man mean?

C.Mr. Gross.

C. The sound is Ok,

A.He doesn’ t know why the woman doesn’t have lunch with him.

B.He is angry with Mary.

C.He is inviting the woman to have lunch with him.

— ] -
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( )3.Where’s the house?
A.In front of the garden.
B.Beside the garden.
C.Behind the garden.
( )4.What does the woman mean?
A.She didn’ t have a good time.
B. She really had a good time.
C.She didn’t go to the party.
( )5.What does the women mean?
A.It’s John, not somebody else loves Mary. y
B. John does not just like but loves Mary.
C.John loves Mary but not any other girl.

(=) f
( )1.How long did the woman spend in Paris?
A.4 months. B.8 months. C.Four and a half month.
( )2 . Which course doesn’t the man take this term?
A . History. B. French. C.Math.

( )3.What was the woman doing at 9:00?
A. She was typing the letters.

|
!
{

B.She was faxing the letters to IT company.
C. She was doing the filing.
( )4.How long did Jenny spend on revising her speech?

A.One day. B.Half a day. C.Two days.
( )5. Which class will the man take at 2 p.m.?
A . History. B. Physics. C. Chemistry.
(o)

( )1.Who is the woman?

A A tailor, B. A manager. C. A saleswoman.
( )2.Who is the man most likely to be?

A. A librarian. B. A teacher. C. A salesman.
( )3.What is the probable relationship between the man and the woman?

A . Teacher and student. B. Classmates. C.Musician and listener.
( )4.Who is the man likely to be?

A. A salesman. B. A waiter. C. A guide.

( )5.Who do you think the woman is?

A



EP—FROESHD

A.The man’s secretary. B.The man’s boss.
(=)

)1 .Where did the conversation most probably take place?

A.In the office. B.In the class.
)2.Where is the man going?

A.To the theater. B.To visit her aunt.
)3.Where did the conversation probably take place?

A. At the museum. B.On the bus.
)4 . Where did the conversation probably take place?

A . At the railway station. B. At the airport.
)5 . Where did the conversation probably take place?

A . At the bus station. B. At the airport.

(o)

}1.What did the woman do after she took a walk?

A . She had lunch. B.She went to the park.

)2. What did the woman see first in the zoo?
A . The lions. B. Milu deer.
)3. When will the woman sleep?
A . After she takes a walk.
B. After the man comes back from the walk.
C. After she closes the windows.
}4.Where is Mr. Jones now?

A.In Boston. B.In Asia.
)5. Where is John now?
A .In the hospital. B.In the school.
()

)1.What time is it?

A.1:15. B. Earlier than 1:15.
)2.When are Mary and John getting married?

A.In June. B.In July.
)3.What time is it now?

A.7 o’ clock. B.8 o’ clock.

)4. When will the woman sleep?
A. After she takes a walk.

— 3 e
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C.The man’s wife.

(e}

.In the park.

[

.To the railway station.

@]

. At the park.
1

C. At the bus station.

C. At the railway station.

C.She went to the store.

]

.The elephants.

C. Unknown.

C. At home.

C.Later than 1:15.

C.In May.

C.9 o’ clock.
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B. After she finishes her homework .
C. After the man gets back from his walk.
)5.When will the man visit that woman?
A . Soon. B.Next year. C.When he finishes writing.

(«™)

)1.What did the man mean?

A . He regretted about that.

B. He was indifferent about that.

C.He was disappointed about that. ;
)2.What can we leam from the conversation?

A . They like different music.

B.They like the same music.

C.They don’t like music.
)3. What can we learmn from the conversation?

A. Neither of them like to copy questions.

B.Both of them like to waste time.

C.The man doesn’t like to copy questions.But the woman does.
)4.How did the man respond to the woman?

A . He was carrying something heavy.

B.He was held by the traffic.

C. He forgot the appointment.
)5.How did the woman feel about the books price?

A.She thought they were expensive.

B. She thought they were cheap.

C.She liked the books.

)1.Does the man believe Helen?

A.Yes. B.No. C.He doesn’t tell us.
)2.What does the man mean?

A.Tom’s sister is not lazy.

B.Tom’s sister helps with the housework .

C.Tom’s sister never helps with the housework .
)3.What does the woman’ s mean?

A .Mike’ s roommate needs to clean room.

B. Mike needs to clean room.

el R
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C.Mike s roommate is orderly.
( )4.What does the woman mean?
A.Tom’s roommate has to finish the term paper.
B.Tom’s roommate has finished the term paper.
C.Tom’'s roommate has not finished the term paper.
( )5.What does the woman mean?
A. She will tell the bad news.
B.She won't tell the bad news.
C. She will be afraid.

(+) ‘

( )1. What will the man do first?
A.To change a new apartment.

B.To go on vocation.
C.To make a plan.
( )2. What would the man like to do?

A.To go to the cinema. B.To watch TV. C.To sleep at home.
( )3. What would they probably do first?
A.To give Mum a call. B.To visit Mum. C.To leave.

( )4. What will the man do first?
A.To go to New York.
B.To meet the woman.
C.To go to Washington.
( )5.What is the man probably doing?
A.To celebrate the Teacher’s Day.
B.To find something as a gift for his teacher.
C.To give the gift to his teacher.

(+—)

( )1.What can we learn from the conversation?

A . The hill becomes higher.

B. They become older.

C. The hill becomes higher and they become older.
( )2.What has the man been doing?

A . Traveling. B. Shopping. C. Exercising.
( )3.Which girl is younger?

A . The girl in red.

— § -
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4.

)5

)1

2.

)3

)4,

)

)2

B. The gitl in green.

C. They are as old as each other.
Which movie is longer?

A.The last week’s movie is longer.
B. This movie is longer.

C. This movie is as long as the last week s one.

. Which ruler is longer?

A.The green one.
B.The red one.

C.They are as long as each other. ‘

(+=)

.Why was Mr. Park late for the class?

A.He was ill.

B.He was sent to the hospital .

C. His mother was ill and sent to the hospital .
Why did the woman change her plan?

A.She planned to see her brother.

B. Her brother was not free.

C. She had to stay at home.

.Why was Tonny absent from school?

A.He did somebody a favor.
B.He ran the race.

C.He had a fever.

Why can’t the woman play tennis?
A.She doesn’t like to.

B.She has to prepare for the test.

C.She can’t play tennis.

.Why did the woman miss the talk show?

A .She didn’ 1 like the program.
B.She didn’t know.
C.She had to finish her composition.

(+=)

.What will the man probably do?

A. Catch a cold. B.Hurry to get the bus.  C.Wait for the next bus,

.When will the play start?
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A. Before 6:00. B.At 6:00. C. After 6:00.

. What will the woman do tonight?

A She will go to the concert.

B.She will buy the tickets.

C. She will take care of her mother.

What does the woman really mean?

A . She does not want to make any trouble.

B. She does not like a cup of coffee.

C. She actually wants to drink a cup of coffee.
What does the woman mean?

A . She can type the report but cannot send it to the meeting.
B. She can’t finish it before 3:00 p.m. .

C. She can finish it before 3:00p.m. .

()

What does the woman suggest the man do?

A. Borrow some money to buy a car at once.

B. Rent a car when he needs one.

C.Eam enough money to buy a car.

What does the man suggest the woman do?

A.Read more English articles.

B. Listen more English.

C. Take the reading exam first.

What does the woman suggest the man do?

B.Take some medicine.  C. Stay in bed.
What does the man suggest the woman do?

A.Take another bus. B.Take the subway. C.Take a taxi.
What does the woman suggest the man do?

A. Go to work tomorrow.

A.Find out the meaning in the dictionary.
B. Look for a dictionary.
C. Ask the teacher.

(+=)

What do we learn from this conversation?

A .The man heard of their marriage before.

B.The man didn’t know their marriage until the woman told him about it.
C.The man got a wonderful idea.

NGLISH
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( )2.What does the man mean?
A . He has received the magazine.
B.He has not received the magazine.

C.He always receives the magazine on time.

( )3. Where is the woman’s sister now?

A.In England. B.In Tialy. C.In Germany.
( Y4.What did the man think of the exam?

A.He didn’t take it. B.It was very easy. C.It was very difficult.
( )5.What does the man mean?

A.He often went shopping last month.
B. He really likes going shopping.
C.He hardly went shopping last month.

(%)

( )1.What does the woman mean?
A. He has to continue to take this course.
B.He doesn’t have to take this course.
C.He doesn’t have to take the exam.
( )2. What do they think about the TV programs?
A.They enjoy watching TV programs.
B.They don’t like the TV programs.
C.They find it hard to tum on TV.
( )3. What did Tom think of the movie?
A.He enjoyed it very much.
B.He liked the picture but not the actress.
C.He liked the actress but not the picture.
( )4. What does the woman mean? .
A. She likes Kate’s skirt very much.
B. She likes the new style only.
C.Kate's red skirt makes her more beautiful .
( )5. What does the man mean?
A.Miss Betty’ s report is boring.
B.Miss Betty’s report is too long.
C.Miss Betty’ s report is excellent.

(+€)

( )1. What would be the woman’s advice?

—> 8§ -«
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A . Look after your eyes. B.Don’t drink water.
C.Don’t use ice too much.

)2. Why did the woman choose the apple?
A. She likes apples. B.There was nothing else to eat.
C. She was leaving the house.

)3.Where does this talk most likely take place?
A.In the library. B.In the bookstore.
C. At a railway station.

)4.What’s the man trying to do?
A.Make a telephone call. B.Run a machine.
C.Talk to the nurse.

(4-o~)

)1.Why hasn’t Mary come to school?
A . Because she is ill.
B. Because she has to look after her mother at home.
C.Because she has a lot of things to do.

)2.Where is Tom now?
A.He is at home. B.He is at the cinema.
C.He is in hospital .

)3.How will the two speakers go to the cinema?
A . They will go there by bus. B. They will go there on foot.
C.They will go there by taxi. .

)4.What’s the relationship( 3 % ) between the two speakers?
A . Mother and son. B. Father and son. C. Brother and sister.

(+20)

)1.Where does the conversation. most probably take place?

A.In a library. B. At a restaurant. C.In a bookstore.
)2.What is the woman do you think?
A.A cook. B.A student. C. A manager.

)3.Where does the man prefer to live?
A.In the city. B.In the country. C. Near the town.

)4 . What conclusion can be drawn from the man’s answer?

A . He likes the brown wool dress. B.He doesn’ t like either.

C.He likes the black and white silk dress.

- O -
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)2.

)3.

)4.

)1

)2

)3.

)4.

)1

)3.

4.

(=)
.What’s the woman invited to go to?
A.To the party. B. To the ball. C.To the meeting.
Why does Kate look sad?
A She has no money to buy a necklace. B.She’s lost a valuable necklace.

C. She has to pay back much money.

What s the necklace made from?

A.It’ s made from diamond. B.1t’s made from gold.

C.1t’s made from glass. ;
Who was sent to the police station?

A.The young man in green. B.The young man about twenty .
C. The man living on the third floor.

(=t+—)

.How will the girl carry the basket of apples?

A.With a handiruck. B. She has a motorbike. C.She’ll take a bus.

. Why didn’t the man pick up the part himself?

A. Because he’s busy now. B.Because he can’t see it.
C. Because his fingers are big.

Who likes wearing woman’s clothes?

A.The girl with short hair. B.The girl with long hair.
C. The young man with short hair.

What brings Mr. Klarke a lot of trouble?
A. His carelessness. B. His laziness. C.His bad luck.

What are being printed now?
A. New students’ books. B.The papers for a maths exam.

C. New excercise-books.

. How many books of the famous writer will be printed altogether?

A Fifteen thousand. B. Twenty thousand. C. Thirty-five thousand.
When did the Chinese invent paper?

A.2,000 vears ago. B.1,500 vears ago. C.1,200 years ago.

Where will they discuss how to improve the printing?

A In their company. B.In the International Hotel.

C. In their meeting-room.
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.Why did the girl’s friends have to leave their homeland?

A.They’ re revolutionaries .

C.They hoped to get rich.

. Who knows German?

A .The man does.

C.The woman does.

. Why was Peter praised in class today?

A Because he often helps his classmates.
B. Because he did better than his classmates .

C.Because he’s made progress in his lessons.

. What language is Paula studying now?

A English B.German.

(=-+m)

. Which country does Pat study in?

A.In lreland. B.In Scotland.

. Where did Mr. Zhao find a job?

A.lIn a factory. B.In a coal mine.

. Who like the honest officer?

A.The peasants do. B. The workers do.

. Why do people go to the coast?
B.To have a good rest.

A.To swim.

(=+=)

.Where's the old temple?

A.It’s on the hill.
C.It’s on the edge of the lake.

. Who hanged himself on the hill in the park?

A . Emperor Chongzhen did.
C. An unknown painter did.

. What happened to the bridge?

B. It fell down.

A. It was destroyed.

. When did the girl visit the dam?

A.On August 3. B.0On October .

SP—FEROESHA

B . They hoped to find a better job.

B . Professor Hill does.

C.French.

C.lIn England.

C.In a company.

C.The teacher do.

C.To swim and get much sun.

B.1t"s on the edge of the river.

B. A famous wnter did.

C. It had to be repaired.

C.On October 3.



